R & R % A =® it %
tRER AT =Y #%EH
=¥ O - e
# " RFULRE (SUS304) RE 1/1 B : mm
20
_____ ‘____.
M6 ARETYE M6 X 16 1
(&) & 1]
} A’_‘__
| N
| :;’ T
© M6 X 12
© (RFYLR)
1T ZAFULR M
S g
(7 )
( SEBE
o -
I LLI LLJ u | 1
\ I ‘ I h
N | | L )
S——~ =T - K AT T O j
L ] L1
\ LD
M ZTULRRIL b
40 50
m & £ SR D ATFVLREY C L d
7026 40mm3E | 11¢ I 15 35 M6 X 30
7027 " " th 30 50 M8 X 40
7028 60mm3z | 136 I 15 35 M6 X 30
7029 " " th 30 50 M8 X 40

68 moBTEHIEMRSH




	シートとビュー
	モデル


